ELHRS "E  |RERE| RREWR | TS BAEFR XA | FIMK (ARG | Sl | SRSk s
102871213303255 | ExIH 033 MBAH(» | 025100 SRt £EHR%E | F2HEE 392 | 27433 84.92
102871213306883 | 4&%E 033 MBA=(» | 125100 TrasE £ESE | LB 249 | 264.33 85.56
102871213303361 HE 033 MBAH(» | 125100 TryEE £ES&E | E2EH 244 | 269.33 85.56
102871213303529 | e 033 MBA=(» | 125100 T £ER%E | F2HE 243 268 85.17
102871213303504 |  BBE=F 033 MBA#y | 125100 TrassE cESE | 2B 237 | 267.67 84.11
102871213303496 | &FFiH 033 MBA#y | 125100 TR £ESE | F=EH 232 263 82.5
102871213303285 | FREFD 033 MBAFy | 125100 TrsHE 2ESE | LB 220 266 81
102871213303538 |  f&f5 033 MBAFy | 125100 T £ES&E | 2B 225 | 260.33 80.89
102871213306519 | #A{XE 033 MBA=(y | 125100 TroEid £EHR%E | F2EE 230 255 80.83
102871213303553 | Fi 033 MBAFy | 125100 TrasmE £ESE | LB 228 | 255.67 80.61
102871213303332 S 033 MBAH) 125100 ITHEE EBH%E | IF=EH 237 | 246.67 80.61
102871213303719| &g 033 MBA=(y | 125100 T £ER%E | F2HEE 224 | 259.67 80.61
102871213303750 |  4BIEFK 033 MBAFh» 125100 TrEl £E#%E | F=HH 225 255.33 80.06
102871213303695 | 3k 033 MBA=y | 125100 TR £ESE | F=EH 224 | 255.67 79.95
102871213303401 | ZH5#% 033 MBAFy | 125100 TrsHE 2ESE | LB 218 | 260.67 79.78
102871213303568 | EBRE 033 MBAFy | 125100 T cERE | F2HEE 215 | 263.67 79.78
102871213307479 | A= 033 MBA=(y | 125100 TroEid £EHR%E | F2EE 219 | 259.33 79.72
102871213307468 | #5822 033 MBAH() 125100 THER 2BH%E | k=B 213 | 265.33 79.72
102871213303327 | #+# 033 MBAfy | 125100 TryEE £ESE | E2EH 219 | 259.33 79.72




ELHRS "E  |RERE| RREWR | TS BAEFR XA | FIMK (ARG | Sl | SRSk s
102871213308220 |  ¥Kf&lS 033 MBA®y | 125100 TroEid £EHR%E | F2HEE 210 268 79.67
102871213303580 | E&l& 033 MBA=(» | 125100 TrasE cESE | 2B 216 | 259.67 79.28
102871213307898 | ik 033 MBAH(» | 125100 TryEE £ES&E | E2EH 211 262 78.83
102871213307963 | BE&EZE 033 MBA=(» | 125100 T £ER%E | F2HE 208 | 264.67 78.78
102871213307895 | 74T 033 MBA=(» | 125100 TrassE cESE | 2B 210 | 262.33 78.72
102871213308666 | &4 033 MBA#y | 125100 TR £ESE | F=EH 207 264 78.5
102871213311931 | B35 033 MBAFy | 125100 TrsHE 2ESE | LB 224 246 78.33
102871213303681 SikfE 033 MBA» 125100 ITrHEE £E%%E | FEHH 209 261 78.33
102871213306720 | #\&i5 033 MBA®y | 125100 TroEid £EHR%E | F2EE 218 | 250.33 78.06
102871213306725 | FiER 033 MBAFy | 125100 TrasmE £ESE | LB 209 | 258.67 77.95
102871213303673 | &=H 033 MBAH(» | 125100 TryEE £ESE | 2B 199 | 268.33 77.89
102871213303286 | [FHHETE 033 MBAFy | 125100 T £ER%E | F2HEE 193 | 273.67 77.78
102871213303511 | Ih— 033 MBAH) 125100 TrHEE BH%E | k=B 208 | 25833 77.72
102871213308151| FE/)N\& 033 MBAH(» | 125100 TR £ESE | F=EH 208 258 77.67
102871213307894 |  LEnES 033 MBAFy | 125100 TrsHE 2ESE | LB 204 | 261.67 77.61
102871213303329 | ZE= 033 MBA» 125100 ITrHEE £E%%E | F£HH 210 255.33 77.56
102871213303275 3 033 MBA®y | 125100 TroEid £EHR%E | F2EE 207 | 257.33 77.39
102871213303722 [k 033 MBAH() 125100 TrEE 2BH%E | k=B 206 | 25833 77.39
102871213303313 | T 73 033 MBAH(» | 125100 TryEE £ESE | E2EH 211 253 77.33




ELHRS "E  |RERE| RREWR | TS BAEFR XA | FIMK (ARG | Sl | SRSk s
102871213308219 | EX 033 MBA®y | 125100 TroEid £EHR%E | F2HEE 202 | 261.33 77.22
102871213307134 | [EE 033 MBAH() 125100 THEE 2BH%E | k=B 211 252 77.17
102871213303691 |  3Kp&RS 033 MBAH(» | 125100 TryEE £ES&E | E2EH 209 | 253.33 77.06
102871213310616 | ZE4Ix= 033 MBA=(» | 125100 T £ER%E | F2HE 199 | 262.33 76.89
102871213303641 |  Eshs(E 033 MBA=(» | 125100 TrassE cERE | F2HEE 201 | 260.33 76.89
102871213303311 | XL 033 MBA#y | 125100 TR £ESE | F=EH 198 263 76.83
102871213306514 | #&F 033 MBA=(y | 125100 TrsHE 2ESE | LB 206 | 254.67 76.78
102871213308213 | &% 033 MBA=(» | 125100 T cERE | F2HEE 192 | 268.33 76.72
102871213303356 |  falfH8x 033 MBA®y | 125100 TroEid £EHR%E | F2EE 196 264 76.67
102871213307144 | k8% 033 MBAH( 125100 THEE 2BH%E | k=B 210 250 76.67
102871213303371 BRI 033 MBAH(» | 125100 TryEE £ESE | 2B 202 258 76.67
102871213303533 | {EffE 033 MBA=(y | 125100 T £ER%E | F2HEE 201 | 258.67 76.61
102871213303383 | Z=Em4) 033 MBA=(» | 125100 TrasE £ESE | E2BEH 197 | 262.67 76.61
102871213307962 |  E37 033 MBA=y | 125100 TR £ESE | F=EH 194 265 76.5
102871213303563 | & 033 MBA=(y | 125100 TrsHE 2ESE | LB 194 265 76.5
102871213303390 | &1 033 MBA=(» | 125100 T £EHE | F2HY 197 | 261.33 76.39
102871213308541 | ERFiD 033 MBA®y | 125100 TroEid £EHR%E | F2EE 193 264 76.17
102871213307883 | =M 033 MBAH() 125100 THER 2BH%E | k=B 204 | 25233 76.06
102871213306531 | FM&EEE 033 MBAH(» | 125100 TryEE £ESE | E2EH 204 252 76




ELHRS "E  |RERE| RREWR | TS BAEFR XA | FIMK (ARG | Sl | SRSk s
102871213303735 | skfZE 033 MBA®y | 125100 TroEid £EHR%E | F2HEE 202 | 253.33 75.89
102871213306709 |  Z#k 033 MBA=(» | 125100 TrasE c£ER%E | F2HE 202 | 253.33 75.89
102871213303318 | EREE 033 MBAH(» | 125100 TryEE £ES&E | E2EH 205 250 75.83
102871213303555 |  Ej&En 033 MBA=(» | 125100 T £ER%E | F2HE 189 | 264.67 75.61
102871213303408 |  Zkg 033 MBA#y | 125100 TrassE £ESE | E2BEH 189 264 75.5
102871213303269 | [FmlE 033 MBA#y | 125100 TR £ESE | F=EH 187 | 265.67 75.45
102871213303639 | ¥FXFH 033 MBAFy | 125100 TrsHE 2ESE | LB 197 | 255.67 75.45
102871213303704 | 3kiR%E 033 MBA» 125100 ITrHEE £E%%E | FEHH 192 260.33 75.39
102871213303728 | FALUE 033 MBA®y | 125100 TroEid £EHR%E | F2EE 193 259 75.33
102871213303584 |  EERA#E 033 MBAFy | 125100 TrasmE cESE | F2BEH 196 | 255.67 75.28
102871213303512 |  Rig#k; 033 MBAH(» | 125100 TryEE £ESE | 2B 199 | 252.67 75.28
102871213303658 | #5&1E 033 MBA=(y | 125100 T £ER%E | F2HEE 204 | 247.67 75.28
102871213306200 | FfE 033 MBAH) 125100 THEE BH%E | k=B 201 249.67 75.11
102871213303380 | &% 033 MBA=y | 125100 TR £ESE | F=EH 199 | 251.33 75.06
102871213303636 | X 033 MBA=(y | 125100 TrsHE 2ESE | LB 196 | 254.33 75.06
102871213306536 | 1457 033 MBAy | 125100 T £EHE | F2HY 195 255 75
102871213303595 | S# 033 MBA®y | 125100 TroEid £EHR%E | F2EE 198 | 251.67 74.95
102871213303258 |  tHiEE 033 MBA=(» | 125100 TrasE £EHRE | FLEH 186 263 74.83
102871213303729 B3 033 MBAH) 125100 ITrHsE £EBH%E | IF=EF 196 | 252.67 74.78




ELHRS "E  |RERE| RREWR | TS BAEFR XA | FIMK (ARG | Sl | SRSk s
102871213307397 | &% 033 MBA=(» | 125100 TroEid £EHR%E | F2HEE 193 | 255.33 74.72
102871213303467 RE 033 MBAH 125100 THEE 2BH%E | k=B 193 | 255.33 74.72
102871213307139 | R 033 MBAy | 125100 TR £ES&E | E2EH 199 | 249.33 74.72
102871213303680 |  3k#e 033 MBA=(» | 125100 T £ER%E | F2HE 191 257 74.67
102871213303574| E& 033 MBA#y | 125100 TrassE £ESE | E2BEH 196 252 74.67
102871213303472 |  %E%AB 033 MBA#y | 125100 TR £ESE | F=EH 189 | 258.33 74.56
102871213303597 | R<FEE 033 MBAFy | 125100 TrsHE 2ESE | LB 196 251 74.5
102871213303484 | #2F 033 MBA=y | 125100 T cERE | F2HEE 187 260 74.5
102871213303607 | BEH 033 MBA=(y | 125100 TroEid £EHR%E | F2EE 189 | 257.67 74.45
102871213306702 9)2 033 MBAH() 125100 THEE £ES%E | F2BH 190 | 256.33 74.39
102871213303665 | ERLIE 033 MBAH) 125100 ITHEE EBH%E | IF=EH 197 | 249.33 74.39
102871213307936 | =% 033 MBA=(y | 125100 T £ER%E | F2HEE 186 | 260.33 74.39
102871213303475 | &3¢k 033 MBA=y | 125100 TrasE £EHE | FLEE 190 256 74.33
102871213303614 | HiE¥ 033 MBA=y | 125100 TR £ESE | F=EH 182 264 74.33
102871213303690 |  3K/kkE 033 MBAFy | 125100 TrsHE 2ESE | LB 190 | 255.67 74.28
102871213303518 | &I 033 MBAFy | 125100 T cERE | F2HEE 190 | 255.67 74.28
102871213307871 EE=) 033 MBA®y | 125100 TroEid £EHR%E | F2EE 186 | 259.33 74.22
102871213303360 faIRx 033 MBA 125100 THER 2BH%E | k=B 184 | 261.33 74.22
102871213303656 | &S 033 MBAy | 125100 TR £ESE | E2EH 186 259 74.17




ELHRS "E  |RERE| RREWR | TS BAEFR XA | FIMK (ARG | Sl | SRSk s
102871213303644 | 55 033 MBA®y | 125100 TroEid £EHR%E | F2HEE 188 257 74.17
102871213308145 |  {ajEs& 033 MBAH() 125100 THEE 2BH%E | k=B 185 | 259.67 74.11
102871213308155 |  3KE 033 MBAfy | 125100 TryEE £ES&E | E2EH 184 | 260.33 74.06
102871213303385 |  I7% 033 MBA=(» | 125100 T £ER%E | F2HE 187 | 257.33 74.06
102871213303429 | & 033 MBA=(» | 125100 TrassE cESE | 2B 181 263 74
102871213303634 | #&\E 033 MBA#y | 125100 TR £ESE | F=EH 192 | 251.67 73.95
102871213306535 | #%:FIif 033 MBAFy | 125100 TrsHE 2ESE | LB 189 | 254.33 73.89
102871213306524 |  J1/Ni& 033 MBA=y | 125100 T £EH%E | FLEY 195 | 248.33 73.89
102871213303560 | ¥ 033 MBA=(y | 125100 TroEid £EHR%E | F2EE 187 | 256.33 73.89
102871213305723 | 75/ 033 MBA=(» | 125100 TrasmE £ESE | LB 196 247 73.83
102871213303314 | THEisK 033 MBAy | 125100 TR £ESE | 2B 171 | 271.67 73.78
102871213307890 | XIEE 033 MBA=(y | 125100 T £ER%E | F2HEE 180 | 262.67 73.78
102871213303414 | 258 033 MBA=(» | 125100 TrasE cESE | F2BEH 171 | 271.33 73.72
102871213306518 | &% 033 MBA=y | 125100 TR £ESE | F=EH 193 | 249.33 73.72
102871213303744 | RIEE 033 MBAFy | 125100 T 2ESE | LB 185 257 73.67
102871213303662 | k& 033 MBA=y | 125100 T £EHE | F2HY 179 263 73.67
102871213303586 | EE&T 033 MBA®y | 125100 TroEid £EHR%E | F2EE 173 269 73.67
102871213303631 %+ 033 MBAH( 125100 TrEE 2BH%E | k=B 180 262 73.67
102871213306528 |  XU#ziR 033 MBAH) 125100 ITrHsE £EBH%E | IF=EF 200 | 241.67 73.61




ELHRS "E  |RERE| RREWR | TS BAEFR XA | FIMK (ARG | Sl | SRSk s
102871213303718 |  #&X¥ 033 MBA=(» | 125100 TroEid £EHR%E | F2HEE 187 | 254.33 73.56
102871213303368 |  #AHRHR 033 MBA=y | 125100 TrasE cESE | 2B 188 253 73.5
102871213308211 = 033 MBAH(» | 125100 TroEiE £ES&E | E2EH 177 264 73.5
102871213303627 | &% 033 MBA=y | 125100 TrsE £ER%E | F2HE 174 | 266.67 73.45
102871213303692 |  3kKAT 033 MBA=(y | 125100 TrassE £EHE | FLEE 186 | 254.67 73.45
102871213307464 |  75EB 033 MBA#y | 125100 TR £ESE | F=EH 181 | 259.67 73.45
102871213303305 | #IHIE 033 MBA=(y | 125100 TrEmE 2ESE | LB 179 | 261.67 73.45
102871213306067 | F& 033 MBA=(» | 125100 T £ES&E | 2B 188 252 73.33
102871213306515 | HEE 033 MBA®y | 125100 TroEid £EHR%E | F2EE 182 258 73.33
102871213307970 Rid 033 MBAH( 125100 T 2BH%E | k=B 187 | 252.67 73.28
102871213303415 | Z=FEHg 033 MBAH(» | 125100 TryEE £ESE | 2B 177 | 262.33 73.22
102871213308212 | 2@ 033 MBA=(y | 125100 T £ER%E | F2HEE 191 | 24833 73.22
102871213303445 | X=X 033 MBAH) 125100 THEE BH%E | k=B 185 254 73.17
102871213303653 |  1%E% 033 MBA=y | 125100 TR £ESE | F=EH 184 255 73.17
102871213306525 | k¥ 033 MBAFy | 125100 TrsHE 2ESE | LB 177 262 73.17
102871213307888 =5 033 MBAH( 125100 TrEE =EBH%E | IF=EF 179 260 73.17
102871213306910 | 4327 033 MBA®y | 125100 TroEid £EHR%E | F2EE 185 254 73.17
102871213303457 | B/l 033 MBAH() 125100 THER 2BH%E | k=B 173 | 265.67 73.11
102871213303740 | %% 033 MBAH(» | 125100 TroEiE £ESE | E2EH 173 | 265.33 73.06




ELHRS "E  |RERE| RREWR | TS BAEFR XA | FIMK (ARG | Sl | SRSk s
102871213303546 |  EiK 033 MBA=(» | 125100 TroEid £EHR%E | F2HEE 179 | 259.33 73.06
102871213308221 | E544is 033 MBAH() 125100 T 2BH%E | k=B 180 258 73
102871213303557 F& 033 MBAH) 125100 ITHsEE EBH%E | IF=EH 178 | 259.67 72.95
102871213303459 | &5 033 MBA=(» | 125100 T £ER%E | F2HE 177 | 260.67 72.95
102871213306198 | HBHg 033 MBA#y | 125100 TrassE £EHE | FLEE 177 | 260.33 72.89
102871213307929 | ki 033 MBA#y | 125100 TR £ESE | F=EH 180 | 257.33 72.89
102871213306201 niE 033 MBAFy | 125100 TrsHE 2ESE | LB 196 | 241.33 72.89
102871213308540 it 033 MBA=(» | 125100 T £EH%E | FLEY 179 258 72.83
102871213303460 | 53 033 MBA=(y | 125100 TroEid £EHR%E | F2EE 188 249 72.83
102871213306700 |  B&=& 033 MBAH( 125100 THEE 2BH%E | k=B 188 | 248.67 72.78
102871213303697 | 3KHBFE 033 MBAH) 125100 ITHEE EBH%E | IF=EH 180 | 256.33 72.72
102871213303749 |  4piEts 033 MBAFy | 125100 T £ER%E | F2HEE 188 | 24833 72.72
102871213303422 | #E® 033 MBAH) 125100 THEE BH%E | k=B 185 | 251.33 72.72
102871213307927 |  [#EB#e 033 MBA=y | 125100 TR £ESE | F=EH 183 253 72.67
102871213303399 | =5 033 MBA=(y | 125100 TrsHE 2ESE | LB 187 | 248.67 72.61
102871213303637 | &K 033 MBA=(» | 125100 T £ES&E | 2B 183 | 252.67 72.61
102871213303618 | HEH 033 MBA®y | 125100 TroEid £EHR%E | F2EE 171 | 264.33 72.56
102871213303544 | EERE 033 MBAH() 125100 THER 2BH%E | k=B 179 256 725
102871213306523 | ZEZ4T 033 MBAF 125100 ITrHsE £EBH%E | IF=EF 190 | 244.67 72.45




ELHRS "E  |RERE| RREWR | TS BAEFR XA | FIMK (ARG | Sl | SRSk s
102871213303485 | F=5RMA 033 MBA®y | 125100 TroEid £EHR%E | F2HEE 179 255 72.33
102871213303623 EI=1 033 MBAH( 125100 T 2BH%E | k=B 173 261 72.33
102871213307885 | 7% 033 MBAH(» | 125100 TryEE £ES&E | E2EH 181 | 252.67 72.28
102871213303500 | s 033 MBA=(» | 125100 T £ER%E | F2HE 177 | 256.33 72.22
102871213307899 | 1487 033 MBA=(» | 125100 TrassE cESE | 2B 177 | 256.33 72.22
102871213303532 |  ZieEHS 033 MBA#y | 125100 TR £ESE | F=EH 183 250 72.17
102871213303502 |  ERRHA 033 MBAFy | 125100 TrsHE 2ESE | LB 171 262 72.17
102871213306899 | &% 033 MBA» 125100 ITrHEE £E%%E | FEHH 188 244.67 72.11
102871213307934 |  #4BEER 033 MBA=(y | 125100 TroEid £EHR%E | F2EE 177 | 255.33 72.06
102871213303420 PE 033 MBAH() 125100 T £ES%E | F2BH 174 | 258.33 72.06
102871213303263 | &= 033 MBAH(» | 125100 TryEE £ESE | 2B 170 | 262.33 72.06
102871213303552 | E#AMT 033 MBA=(y | 125100 T £ER%E | F2HEE 184 | 24833 72.06
102871213303317 |  #tf& 033 MBA=(» | 125100 TrasE £EHE | FLEE 179 | 253.33 72.06
102871213303589 | [HEE 033 MBAH(» | 125100 TR £ESE | F=EH 178 | 254.33 72.06
102871213303282 | i 033 MBAFy | 125100 TrsHE 2ESE | LB 172 | 260.33 72.06
102871213303660 |  #74L 033 MBAy | 125100 T £EHE | F2HY 180 252 72
102871213306711 | XU 033 MBA®y | 125100 TroEid £EHR%E | F2EE 180 252 72
102871213307886 = 033 MBA 125100 THER 2BH%E | k=B 176 | 255.67 71.95
102871213303732 | AR 033 MBAH) 125100 ITrHsE £EBH%E | IF=EF 178 | 253.67 71.95




ELHRS "E  |RERE| RREWR | TS BAEFR XA | FIMK (ARG | Sl | SRSk s
102871213303571 | Ejikik 033 MBA®y | 125100 TroEid £EHR%E | F2HEE 181 | 250.67 71.95
102871213303554 | Fz& 033 MBAFy | 125100 TrasE £EHRE | FLEH 178 | 253.33 71.89
102871213303455 | BEER 033 MBAfy | 125100 TryEE £ES&E | E2EH 178 | 252.67 71.78
102871213303298 | &{%(* 033 MBA=(» | 125100 T £ER%E | F2HE 178 | 252.33 71.72
102871213307900 | F&A& 033 MBA=(y | 125100 TrassE £EHE | FLEE 179 251 71.67
102871213309574 | ER=F#% 033 MBA#y | 125100 TR £ESE | F=EH 178 252 71.67
102871213303424 | X5 033 MBAFy | 125100 TrsHE 2ESE | LB 170 | 259.67 71.61
102871213307939 | ki 033 MBA=(» | 125100 T £EH%E | FLEY 172 | 257.33 71.56
102871213303714 | &I 033 MBA®y | 125100 TroEid £EHR%E | F2EE 176 | 253.33 71.56
102871213306871 | Bk 033 MBAH() 125100 THEE £ES%E | F2BH 171 258.33 71.56
102871213303416 |  =4g 033 MBAH(» | 125100 TroEiE £ESE | 2B 171 | 258.33 71.56
102871213303536 | i 033 MBA=(y | 125100 T £ER%E | F2HEE 170 259 71.5
102871213303304 v.9% 033 MBAH) 125100 THEE BH%E | k=B 171 257.67 71.45
102871213306724 | E& 033 MBAH(» | 125100 TR £ESE | F=EH 177 | 251.67 71.45
102871213303626 | &% 033 MBA=(y | 125100 TrsHE 2ESE | LB 176 | 252.67 71.45
102871213303668 |  FL: 033 MBA=(» | 125100 T £EHE | F2HY 175 | 253.33 71.39
102871213303369 |  #Ai% 033 MBA=(y | 125100 TroEid £EHR%E | F2EE 174 254 71.33
102871213303583 F7S 033 MBA 125100 THER 2BH%E | k=B 178 | 249.67 71.28
102871213303501 VK] 033 MBA» 125100 THEHE 2E%%E | F=BH 188 239.33 71.22




ELHRS "E  |RERE| RREWR | TS BAEFR XA | FIMK (ARG | Sl | SRSk s
102871213303601 | EFIF 033 MBA®y | 125100 TroEid £EHR%E | F2HEE 177 250 71.17
102871213303630 | 1R=E 033 MBAH 125100 THEE 2BH%E | k=B 174 253 71.17
102871213303340 | = 033 MBAH(» | 125100 TryEE £ES&E | E2EH 179 | 247.33 71.06
102871213303713 | #&¥ 033 MBA=(» | 125100 T £ER%E | F2HE 173 253 71
102871213308149 | A&HR 033 MBA=(» | 125100 TrassE cESE | 2B 180 246 71
102871213303389 | & 033 MBAH(» | 125100 TR £ESE | F=EH 173 253 71
102871213303257 | BB= 033 MBAFy | 125100 TrsHE 2ESE | LB 170 256 71
102871213303272 BRI 033 MBAH) 125100 TrEE =EBH%E | IF=HH 183 243 71
102871213307957 | #E¥ 033 MBA®y | 125100 TroEid £EHR%E | F2EE 174 | 251.67 70.95
102871213303387 | SIB4 033 MBAFy | 125100 TrasmE £ESE | LB 184 | 241.67 70.95
102871213303739 | k4 033 MBAfy | 125100 TryEE £ESE | 2B 175 | 250.33 70.89
102871213303346 |  [fEkE 033 MBA=(y | 125100 T £ER%E | F2HEE 172 | 253.33 70.89
102871213303335 | HFIAL 033 MBA=(y | 125100 TrasE £EHE | FLEE 173 | 252.33 70.89
102871213307128 | &7 033 MBAH(» | 125100 TR £ESE | F=EH 171 254 70.83
102871213307889 |  NUEHE 033 MBAFy | 125100 TrsHE 2ESE | LB 172 | 252.67 70.78
102871213306716 | B= 033 MBA 125100 TrEE =EBH%E | IF=EF 177 | 247.67 70.78
102871213303664 | MHE= 033 MBA=(y | 125100 TroEid £EHR%E | F2EE 175 | 249.33 70.72
102871213307968 | AP 033 MBAH() 125100 THER 2BH%E | k=B 172 252 70.67
102871213303297 |  FFEEEH 033 MBAH(» | 125100 TryEE £ESE | E2EH 170 254 70.67




ELHRS "E  |RERE| RREWR | TS BAEFR XA | FIMK (ARG | Sl | SRSk s
102871213303645 |  HAIE 033 MBA=(» | 125100 TroEid £EHR%E | F2HEE 171 | 252.33 70.56
102871213303274 | [GEZ 033 MBA=(» | 125100 TrasE £ESE | LB 176 247 70.5
102871213303391 By 033 MBAH(» | 125100 TryEE £ES&E | E2EH 171 252 70.5
102871213306712 |  XUFT¥ 033 MBAFy | 125100 T £ER%E | F2HE 170 | 251.33 70.22
102871213303643 =R 033 MBAH() 125100 THEE BH%E | IF=EF 174 247 70.17
102871213303398 | =g 033 MBA#y | 125100 TR £ESE | F=EH 175 | 245.67 70.11
102871213303261 EN 033 MBAFy | 125100 TrEmE 2ESE | LB 175 | 245.67 70.11
102871213303620 | BiRlS 033 MBAy | 125100 T £EH%E | FLEY 171 249 70
102871213303349 |  [READ 033 MBA#y | 125100 TroEid £EHR%E | F2EE 170 | 249.33 69.89
102871213306874 | =/M& 033 MBAH() 125100 THEE £ES%E | F2BH 177 242 69.83
102871213303477 | EEE 033 MBAH(» | 125100 TryEE £ESE | 2B 170 | 248.33 69.72
102871213303520 | Mk 033 MBA=(y | 125100 T £ER%E | F2HEE 170 | 247.67 69.61
102871213305724 | & 033 MBA=(» | 125100 TrasE £ESE | E2BEH 173 | 244.33 69.56
102871213303397 | 24 033 MBA=y | 125100 TR £ESE | F=EH 174 | 241.67 69.28
102871213303289 |  BiREEEF 033 MBA=(y | 125100 TrsHE 2ESE | LB 171 244 69.17
102871213303784 | =K% 033 MBAH(» | 125300 &it cERE | F2HEE 244 263 84.5
102871213303779 | Ei4E 033 MBAFy | 125300 &It £EHR%E | F2EE 238 | 256.33 82.39
102871213308318 |  3K{f* 033 MBA=y | 125300 &it cESE | 2B 241 | 250.33 81.89
102871213303788 |  FREE 033 MBA=y | 125300 &it £ESE | E2EH 224 | 265.67 81.61




ELHRS "E  |RERE| RREWR | TS BAEFR XA | FIMK (ARG | Sl | SRSk s
102871213308548 |  #MOMst 033 MBAFy | 125300 &It £EHR%E | F2HEE 243 | 24467 81.28
102871213303785 | =8 033 MBAH 125300 it 2BH%E | k=B 221 261 80.33
102871213310617 | 3BFE 033 MBAfy | 125300 &it £ES&E | E2EH 217 | 263.67 80.11
102871213303866 | KR 033 MBAFy | 125300 it £ER%E | F2HE 220 260 80
102871213306074 | #\EE 033 MBA=y | 125300 &it cERE | F2HEE 222 256 79.67
102871213303778 | &4 033 MBAsy | 125300 &it £ESE | F=EH 218 | 258.67 79.45
102871213306544 | E1EH 033 MBAFy | 125300 it 2ESE | LB 227 | 247.67 79.11
102871213303768 | =1, 033 MBA=(» | 125300 &it £ES&E | 2B 230 | 243.67 78.95
102871213303825 BEA 033 MBAFy | 125300 &It £EHR%E | F2EE 209 262 78.5
102871213304933 | =HER 033 MBAH() 125300 it 2BH%E | k=B 211 259.67 78.45
102871213303755 |  FER 033 MBAsy | 125300 &it £ESE | 2B 223 | 247.33 78.39
102871213303828 | FfEFK 033 MBAFy | 125300 &It £ER%E | F2HEE 217 253 78.33
102871213307973 | A4 033 MBAy | 125300 &it £EHE | FLEE 213 | 255.67 78.11
102871213308545 |  {&iEHK 033 MBAFy | 125300 &it £ESE | F=EH 213 255 78
102871213303810 | {38714 033 MBAFy | 125300 it 2ESE | LB 219 247 77.67
102871213303854 | 1% 033 MBAy | 125300 &it £EHE | F2HY 205 | 259.33 77.39
102871213303848 | 145 033 MBA=(» | 125300 &It £EHR%E | F2EE 205 259 77.33
102871213308471 | Xlgas 033 MBAH() 125300 it 2BH%E | k=B 210 | 253.33 77.22
102871213306206 TemE 033 MBAH) 125300 =1t £EBH%E | IF=EF 215 | 247.67 77.11




ELERS HE |REAE| KRESR | TS BAl=FR AP | FIFR | ERE | SR | SRS &/E
102871213304030 EXRX 033 MBAH) 125300 =it eERE | F2HE 219 242 76.83
102871213310883 E 033 MBAH) 125300 =it £ERE | F=HEE 220 238.33 76.39
102871213303791 == 033 MBA) 125300 =it EBH%E | IF=EH 205 252 76.17
102871213303864 | ZEEH 033 MBAR) 125300 =1t ER%E | F2HEE 200 256.67 76.11
102871213306553 Wt 033 MBAH 125300 =it £EB5E | F=HEE 202 254.67 76.11
102871213303790 | Z=8RI 033 MBA) 125300 =it £EBH%E | IF=AF 215 241.33 76.06
102871213303826 s 033 MBAH 125300 =1t 2EBHE | k=B 204 251.67 75.95
102871213309414 Fi5 033 MBA=) 125300 =it £EB5E | IF=EE 209 246.33 75.89
102871213308159 | FEFite 033 MBAH) 125300 =it eER%E | F2HE 213 241.33 75.72
102871213306070 TH 033 MBAH) 125300 =it £EBR%E | F=HEE 189 263.67 75.45
102871213306075 | ZWE8 033 MBAH( 125300 =it EBH%E | IF=EH 194 258.67 75.45
102871213303869 | Kk 033 MBAR 125300 =1t ER%E | F2HEE 183 269.33 75.39
102871213305630 | f#MiEH 033 MBAH 125300 =it BH%E | k=B 205 246 75.17
102871213303815 | L KiE 033 MBA) 125300 =it £EBH%E | IF=AF 204 247 75.17
102871213306071 BYE 033 MBAH) 125300 =1t 2EBHE | k=B 211 239.67 75.11
102871213309093 y)A0) 033 MBA=) 125300 =it £EB5E | IF=HEE 212 238.33 75.06
102871213306545 i 033 MBAH) 125300 =it eER%E | F2HE 199 251 75
102871213303875 APt 033 MBAH) 125300 =it £ER%E | F=HEE 195 254.67 74.95
102871213311995 |  sKIZIE 033 MBA) 125300 =it £EBH%E | IF=EF 210 239.33 74.89




ELHRS "E  |RERE| RREWR | TS BAEFR XA | FIMK (ARG | Sl | SRSk s
102871213303871 KE 033 MBAFy | 125300 &It £EHR%E | F2HEE 200 | 248.67 74.78
102871213303880 |  sktef 033 MBAH() 125300 it 2BH%E | k=B 195 | 253.33 74.72
102871213303822 | i7HEH 033 MBAH) 125300 =1t EBH%E | IF=EH 203 245 74.67
102871213303882 | 48 033 MBA=(» | 125300 it £ER%E | F2HE 217 | 23033 74.56
102871213303878 | [A%h 033 MBA=(» | 125300 &it £EHE | FLEE 191 | 255.33 74.39
102871213303802 |  UFEL 033 MBAsy | 125300 &it £ESE | F=EH 193 253 74.33
102871213306546 | {385 033 MBAFy | 125300 it 2ESE | LB 195 251 74.33
102871213303792 | =Tt 033 MBA 125300 it =EBH%E | IF=HH 201 244.67 74.28
102871213303831| EBARZ 033 MBAFy | 125300 &It £EHR%E | F2EE 208 | 237.33 74.22
102871213303884 |  4B7RAL 033 MBAH() 125300 it 2BH%E | k=B 194 | 251.33 74.22
102871213305402 |  Fipfie 033 MBAsy | 125300 &it £ESE | 2B 212 233 7417
102871213303883 |  4/3H3 033 MBAFy | 125300 &It £ER%E | F2HEE 206 | 238.67 74.11
102871213303852 | =—i& 033 MBA=(» | 125300 &it cESE | F2BEH 209 235 74
102871213303764 | &7 033 MBA=(» | 125300 &it £ESE | F=EH 187 257 74
102871213303820 | MR 033 MBAFy | 125300 it 2ESE | LB 204 | 239.33 73.89
102871213303780 | &% 033 MBAFty | 125300 &it £EHE | F2HY 192 | 251.33 73.89
102871213310841| EEiH 033 MBAFy | 125300 &It £EHR%E | F2EE 196 | 247.33 73.89
102871213308550 | #4750 033 MBAFy | 125300 &it £EHRE | FLEH 193 250 73.83
102871213303832 | E&H 033 MBAsy | 125300 &it £ESE | E2EH 190 | 252.33 73.72




ELHRS "E  |RERE| RREWR | TS BAEFR XA | FIMK (ARG | Sl | SRSk s
102871213307486 | K& 033 MBAFy | 125300 &It £EHR%E | F2HEE 191 | 250.67 73.61
102871213303793 | 2% 033 MBAFy | 125300 &it £EHRE | FLEH 196 | 245.33 73.56
102871213306207 | HEEE 033 MBAfy | 125300 &it £ES&E | E2EH 192 249 73.5
102871213303843 | Eiz 033 MBAFy | 125300 it £ER%E | F2HE 201 239 73.33
102871213303836 | FZi&E 033 MBAFty | 125300 &it cESE | 2B 203 | 23633 73.22
102871213306547 | ARE 033 MBA=(» | 125300 &it £ESE | F=EH 200 | 239.33 73.22
102871213304017 | =&ES 033 MBAFy | 125300 it 2ESE | LB 180 259 73.17
102871213308467 | T=%E 033 MBAFy | 125300 &it cERE | F2HEE 183 | 255.67 73.11
102871213303766 | TZ=% 033 MBAFy | 125300 &It £EHR%E | F2EE 179 259 73
102871213307147 &bl 033 MBAH( 125300 it 2BH%E | k=B 202 | 235.33 72.89
102871213306550 | EH 033 MBAsy | 125300 &it £ESE | 2B 194 243 72.83
102871213303763 | &i&X 033 MBAFy | 125300 &It £ER%E | F2HEE 181 | 255.33 72.72
102871213303754 | PRIEBE 033 MBAH) 125300 it BH%E | k=B 189 | 247.33 72.72
102871213303765 | & 033 MBAFy | 125300 &it £ESE | F=EH 179 257 72.67
102871213308546 |  Z5/3 033 MBAFy | 125300 it 2ESE | LB 184 | 250.33 72.39
102871213303751 G 033 MBAH(» | 125300 2it £EHE | F2HY 195 | 237.33 72.06
102871213307401 &) 033 MBAFy | 125300 &It £EHR%E | F2EE 185 | 247.33 72.06
102871213306552 | 17MER 033 MBAH() 125300 it 2BH%E | k=B 190 242 72
102871213308549 | E+i% 033 MBAsy | 125300 &it £ESE | E2EH 182 | 249.67 71.95




ELHRS "E  |RERE| RREWR | TS BAEFR XA | FIMK (ARG | Sl | SRSk s
102871213310842 |  &E&73s: 033 MBAFy | 125300 &It £EHR%E | F2HEE 182 | 249.33 71.89
102871213306208 | &5 033 MBAH() 125300 it 2BH%E | k=B 185 | 245.67 71.78
102871213306735 | =% 033 MBAfy | 125300 &it £ES&E | E2EH 204 226 71.67
102871213303837 | E5 033 MBAFy | 125300 it £ER%E | F2HE 193 237 71.67
102871213308547 | GE% 033 MBAFty | 125300 &it £ESE | E2BEH 185 | 244.67 71.61
102871213303762 |  fi&lit 033 MBAsy | 125300 &it £ESE | F=EH 186 | 240.67 71.11
102871213303872 | KiE 033 MBAFy | 125300 it 2ESE | LB 192 | 23433 71.06
102871213303819 | #MTE 033 MBAy | 125300 &it £EH%E | FLEY 184 241 70.83
102871213303821 | #NEIE 033 MBAFy | 125300 &It £EHR%E | F2EE 184 | 240.67 70.78
102871213303859 | Mt 033 MBA=y | 125300 &it £EHRE | FLEH 181 | 242.33 70.56
102871213303849 | 145500 033 MBAsy | 125300 &it £ESE | 2B 195 | 228.33 70.56
102871213304383 |  XUsFH# 033 MBAFy | 125300 &It £ER%E | F2HEE 185 | 23833 70.56
102871213303761 | mZE= 033 MBA=(» | 125300 &it £ESE | E2BEH 200 222 70.33
102871213307945 |  {E£B 033 MBAFy | 125300 &it £ESE | F=EH 182 239 70.17
102871213311067 | XUt 033 MBAFy | 125300 it 2ESE | LB 181 | 23567 69.45
102871213307942 | S22 033 MBAFty | 125300 &it £ES&E | 2B 180 236 69.33
102871213303818 | HpEEE 033 MBAFy | 125300 &It £EHR%E | F2EE 186 | 229.67 69.28
102871213311021 =i 033 MBAH() 125300 it 2BH%E | k=B 179 | 230.67 68.28
102871213304019 | Z¥J 033 MBAH(y | 125601 TrEEmE £ESE | E2EH 247 | 251.33 83.06




ELHRS "E  |RERE| RREWR | TS BAEFR XA | FIMK (ARG | Sl | SRSk s
102871213303907 |  Xiss 033 MBAFYy | 125601 TiEEE £EHR%E | F2HEE 201 | 257.67 76.45
102871213303886 |  [Fi% 033 MBAHYy | 125601 TiEEE cESE | 2B 221 | 236.67 76.28
102871213307976 b 033 MBA» 125601 TiEEE 2E%%E | F=BE 210 238.67 74.78
102871213303919 |  #kix 033 MBAFYy | 125601 TiEEE £ER%E | F2HE 188 255 73.83
102871213303909 | & 033 MBAFy | 125601 TiEEE £ESE | E2BEH 210 231 73.5
102871213303925 | AKX 033 MBAH(y | 125601 TrEEE 2E%%E | 2T 204 | 235.67 73.28
102871213303901 | Z=ER 033 MBA=(y | 125601 TrEEE 2ESE | LB 192 | 243.67 72.61
102871213303890 BEREY 033 MBAHI 125601 TreER =EBH%E | IF=HH 187 245 72
102871213303894 |  {i% 033 MBA=(y | 125601 TrEEE 2ESE | LB 180 | 245.33 70.89
102871213303916 |  AEEUE 033 MBAFYy | 125601 TiEEE cESE | F2BEH 183 | 239.67 70.45
102871213308551 | AT 033 MBAHYy | 125601 TrEEmE £ESE | 2B 187 | 233.33 70.06
102871213303913 | FEill& 033 MBA=(y | 125601 TEEE £ER%E | F2HEE 186 234 70
102871213303923 | ¥BH7¢T 033 MBAFy | 125601 TiEEE cESE | F2BEH 177 | 239.67 69.45
102871213303893 | TI% 033 MBAFYy | 125601 TrEEmE 2ES%E | 2T 182 | 23267 69.11
102871213303899 | EE&H 033 MBA=(y | 125601 TrEEE 2ESE | LB 179 232 68.5
102871213303910 | #BEE 033 MBA» 125601 TiEEE £E%%E | F£HH 175 229 67.33
102871213303940 |  XIszt4 033 MBAH(y | 125602 MEEE £EHR%E | F2EE 253 | 261.33 85.72
102871213303928 | %ZB# 033 MBAH() 125602 mEEE 2BH%E | k=B 232 | 255.67 81.28
102871213303943 | EXR¥® 033 MBAH) 125602 mEEE £EBH%E | IF=EF 212 | 253.67 77.61




ELHRS "E  |RERE| RREWR | TS BAEFR XA | FIMK (ARG | Sl | SRSk s
102871213303937 | Zs%3s 033 MBAH(y | 125602 MEEE £EHR%E | F2HEE 205 256 76.83
102871213312392 | K& 033 MBA=(y | 125602 HEEE 2E%E | E2EH 213 | 247.67 76.78
102871213303952 | R 033 MBASRy | 125602 mEEE £ES&E | E2EH 207 | 246.33 75.56
102871213303960 | 448 033 MBAFYy | 125602 REEE £ER%E | F2HE 194 | 257.67 75.28
102871213303931| Bkt 033 MBASRy | 125602 HEEE cESE | E2E4 196 251 74.5
102871213306082 | X% 033 MBAH(y | 125602 MEEE £ESE | F=EH 191 | 251.33 73.72
102871213303955 | #7548 033 MBAFYy | 125602 mEEE 2ESE | LB 201 | 241.33 73.72
102871213306916 | #AFi# 033 MBAFy | 125602 HEEE cERE | F2HEE 192 249 73.5
102871213303939 | XU 033 MBAH(y | 125602 MEEE £EHR%E | F2EE 199 | 241.67 73.45
102871213303942 | &FF 033 MBAH() 125602 mEEE 2BH%E | k=B 184 232 69.33
102871213303958 | =BH% 033 MBAH(y | 125602 mEEE £ESE | 2B 177 235 68.67




